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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 8,006 2) 7,001 3) 3,004 4 6,009
- 946 - 3,657 -2,539 -_5,379 5
3.
4.
5 7,007 6 1,008 7 8,001 8 6,006 >
- 2,646 - 869 - 5,453 -3,330 6
7.
8.
9 6,007 10) 3,007 11) 5,004 12) 3,004 9.
-4,493 - 2,944 - 782 - 606
E— EE— —_— — 10.
11.
12.
13) 5,006 14) 8,009 15 1,001 16) 1,009 13.
-2,707 - 6,398 - 803 - 555
S S S o 14.
15.
16.
17) 7,007 18) 9,007 19) 8,007 200 1,004 17
-6,211 -2,082 -3,376 - 281
18.
10.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 7.060
1) 8,006 2 7.001 3 3,004 4 6,009
- 946 - 3,657 -2.539 - 5,379 , 3,344
7.060 3,344 465 630
3 465
4 630
5 7,007 6) 1,008 7 8,001 8 6,006 > 4,361
- 2.646 - 869 - 5,453 - 3,330 . 139
4,361 139 2 548 2 676
- 2548
8 2 676
9 6,007 100 3007 1) 5004 12)  3.004 o. _ 1,514
-4.493 -2.944 - 782 - 606 &3
1514 63 4,222 2,398 10
un 4222
1. 2,398
13) 5,006 14) 8,009 15 1,001 16) 1.009 13 2,299
-2.707 - 6,398 - 803 - 555
2 299 1.611 198 454 . _ 1,611
15, 198
16, 454
17)  7.007 18) 9.007 19) 8.007 200 1,004 . 796
-6,211 -2.082 -3,376 - 281
796 6,925 4,631 723 18, 6,925
o 4631
20. 723
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
2,548 3,344 465 7,060
1,514 4,361 139 63 1.
2,398 2,676 4,222 630
2
1) 8,006 2) 7,001 3 3,004 3.
- 946 - 3,657 - 2,539
- - - 4,
5
6
7
4 6,009 5 7,007 6) 1,008
- 5,379 - 2,646 - 869 8.
9
10.
11.
7) 8,001 8 6,006 9 6,007 "
- 5,453 - 3,330 -4,493
10) 3,007 11) 5,004 12) 3,004
- 2,944 - 782 - 606
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